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1-X%�

X%�

TOTAL 
�

OPEX�

REVENUE�

ROYALTY IN KIND�

DD&A�

TAXABLE INCOME�

Capex�

Cash Flow 
�

CONTRACTOR SHARE�

CONSUMPTION�

TAXABLE INCOME After LST�

NET OPERATING INCOME�

Non Income Taxes* (Law 20, 40, Corpei, �
SuperIntendencyTax, MuniTax)�

Labor Shar.Tax 15% ** �

Income Tax 25%�
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�� � ���������� � �� � � !�� ��"��!� ��������# � ���
�� � ���������� � ���! �#���$�#��� ��% !�� ��!�� � %  � �
�� � ��������������!� � "��!� ������������%!�� � %
��� ���!� ����!�� � � �  �� � ��#�� � %����� % �#���� � �%  ���
��� �%!� ���� ! &� ��$������� � � � ���  % �!�� ������#��!� � ���
�� � ���! �#���$�#��� ��%!�� ���  % �!�� ������������%!������ � ���! �#�
!���� ���$������� � � � !�#��� � �% ��� � % ��
'�����  �%!�� �� ���� ��$�� �%��(��� �
��� ���!� ����!�� � � �  �� � � !������ � �% ��� � %��
'�����  �%!�� � �!�� �#����� ) � %�
�� � ��������� �!�� �#���� &���� � � �!�� �#������� !��� � % �$���"�� ���
�� � ��������� �!�� �#����� ) � % � � �!�� �#���� � �  �� �
� !�� ��"��!� ������� � ���� � !�� �����  % �!�� �
&�� �� � % �����* �!������� � ���! �#���$ !����(� ������ ������ ���
&�� �� � % �����* �!�% � ������������!� � � !�� �����& � � ������ ������ ���
&�� �� � % �����* �!�% � ������� �!�� �#�� ���& � � �����# � � �+�
����%����� ) � � ��$��� % �!�������#&� �#� � �� % !�� #�� �� � �� � �% !�#
����%���  �%!� ���� %�!�#�� � %���!��%  ��� "��!� �������� �� �� , % �������#� ��$��"���
����%���  �%!� ����� �� � % �� ��$��! ##�(� ��%���  �% !� ����$�� �  �% !� �
�#� � #���� ��
������!� � % � & ���#������ �� % !�� #�$�!��!�� ��� � �%!�#�
�&�� � �
����%���  �%!� ������ � �� ���-���� ���� ��� � �%!�%  �  �% !� ����&�' ��#� �
����%���  �%!� �����#�� �%!� �����!��%��� �! "��!� ���������� % �#
��% � %��������!�%!���$�# ��% � �� !��%��� �!�������
�����$��� %���&������� ) � � ��$�� !������ � �%!�%  �  �% !� ����&�' ��#� �
�����$��� %���&������ #�� ����"��� ���!� ��$ ��"��� �
�����$��� %���&����� %�!�#���#� ���%��  �% ���# � ����$���#�� � % ������# ����
��*�
����-�� % ���&�� % �!�#���#� ��!���� ����� � "��!� ��������� % �#���� ��
������� � % �$��� %���&������ !���� %�!�#� ���& � � ��'� (������! �� ��
������� � % �$��� %���&�� � % ����� �� � % �� � ���& � � ���� ��� ���� � % ��������� $�
������� , % �$��� %���&�� , % ������ +� ��
�. � �� ��� �%!�� � %
������� � % �$��� %���&�� � % ����� � � # �� � ��� !��������� � �� � % ��
�����$��� %���&������ � �� ���-��� ���� ��� ���%  � % ������!����(� � % !��%��
�����$��� %���&���#�� �%!� ��!��%��� �!���� ���& � � ��$�� ������� �����% !�����!������
���& � � ��(�� � �� ��$��� %!�% � � �� � ���& � � �������"�� ����$�& " #�%� �
���& � � �������� !� � � ���& � � �����!��%��� �!������ �!�� �#��
���&�������� !� �/��$����! ) ��� , % �� �� �� % �! &� ��$���� , % ��� � �#
���& � � �������� !� �/��$����! ) ��� , % ���& � � ����� %����� � %
���& � � ���������� � ����*!��%�� �������������� ���� � %
�� % !��!�� � % ��������� %�#������!����(� � ���& � � �������!�� % "
� !�� �����& � � ����� )�� � % �#��� % ����% � � � &��$����� � &�����#��!� ���
!��% �������!������� ��$����� � � � % ����� � � ������$�� �% !�%����#�% !������"�%���� , %
!��% ���!������� �-���� � � � %����� ��� #�� � � &��'��� �
�� ������ �
!��% ��� �!��������  % �!�� ��$�� !�� �����& ������� � %��� �% !�% ��$��� % ���&�������!�
�� � �����#���#�% ������"��� �� %!�"���� �0  � ����!� ��� ������ � ��������% �!��� !� � �
�� � ��������"��� �������!� � � & #��  � ����!� ��� ����&�' ��#� �����!���� � % �� �
�� � ������� !�� ����"��� � � !����!������ �%  � ��#������� � ������$��
���& � � ����% ��� � ���� ���!��%�)���% � ��  � ����!� ��� ����#���*!���� � % ����' ��� ��
���& � � ����% ��� � ���� ������!�� � % �����  � ����!� �� ����� � % ���) %�% � �����0 �� �)
���&����%��� � ���� ����� � % ����% �� � %��� � !�� ��!� ��!� ���% �!��� !� � � �#� ��#
� !�� �����& � � ����%��� � ��$�� �  #���� ��&� #�� � % ���� � ����!� �
��#�� � ��$��� � �#�� �%!� ��) (� � � !�� ��"��!� ���� � �#����� !�� �
��#�� � ��$��� � �#�� �%!� ��) (� ���&���� � % ���� ������ �� % �� #&�%� ������!��) �� ���
�� � �#�� �%!� ��&�� ��#�� ��!��# +�� � % �) % � %!���� � ������ & � � %�
�� � �#�� �%!� ��'� �����*!��� �� % �� �� ��!��# +�� � % �) % ���� &����� �%!�#�� ���� �
���! � ��� � % ����#� ��!����(��� �����% ��# � )��% �"�! &��������� � � ��% �� ����� � %��
 % ��� ���� ����(���� ����� �� ����(�!������ � )��% �"�! &������ � � ��% �� �����!��) �� 

��"�� ������ � �#����"� ��� �������% �!��� � )�%�"�! &��������� � � ��% �� ����� � %��
�� !�� � % ���$��� � �#�� ���-��%� � %�������� ���� ������ ���%�(�%�� � % ���� %�!�#�� � %
"��!� �����& �(���#� �� � � � � % �� �� � ���(�% ���� ������ ���%�(�%�� � % ����� !�� � %� � &�
"��!� ��& �(�����!�%� �����#� (��  �%!� �$ "��!� ���*!��� �� %�� � ���� ����%� � %���$
"��!� �����& �(���� �!�� �� % ! % "�%� ���) ���#���
���!������� !�� 
� !�� ��"��!� �����& �(� � !�� ��"��!� ���*!��� �� % �� � �
� !�� ��"��!� ���� � �#��� % �!�#�-���& � � � �� +����� %&��� � %���������*�#� ��� � % ���
� !�� ��"��!� ���� � �#�����$��������� �  �� �� � �! +�� � % ����� �� � % �� �
� !�� ��"��!� ���� � �#������� % � � �!� � �� � �! +�� � % ���� % �!�#�� � % ��������� ���
� !�� ��"��!� ���� � �#����)� �� �� � % �� � �! +�� � % ����� � � # �� �
� !�� ��"��!� ���� � �#������ � �������� �� � �� � �! +�� � % ������ � �� ������ ) � % �
� !�� ��"��!� ���� � �#������% !�� ��� �� �� � �� � �! +�� � % �����% ������� &���� �
� !�� �"��!� ��� � �#����"��� ���� ���$�)�## �� � �! +�� � % ������ � �� ���������� ���� ���
� !�� �"��!� ��� � �#��$������!�� � ��� �#��� �� � �! +�� � % ��#�� �% !� �����!��% ��� �!����
� !�� �"��!� ��� � �#�!��% �������� % �#�#� �� � �� !�� � % ���#����� & � � % ���������% �� % � ��
� !�� �"��!� ��� � �#��!��%�������� % �#����� �� !������ &������ !�� ������ &������ �!�� �#
� !�� ��"��!� ���� � �#������#��� � % ������� �� !�� � % ���#����� &��- % �� #&����!��) ��
� !�� ��"��!� ���� � �#�������&�%� � % ������ � !�� ��"��!� ���� � �#��������� � �
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